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PROBABILITY

Topic 1 Empirical Probability Multiple Choice

Questions

1. Probability of a certain event:



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0o3livMWiPFH

A.O

B.1

C.less than O

D. more than 1

Answer: B

o Watch Video Solution

2. If the occurrence of one event prevents the

occurrence of another event then they are..........


https://dl.doubtnut.com/l/_0o3livMWiPFH
https://dl.doubtnut.com/l/_sMx0LFAx9us2

A. Complementary event

B. Impossible event

C. Mutually exclusive event

D. Certain event

Answer: C

o Watch Video Solution

3. The probability of getting an even number,

when a die is thrown once, is:


https://dl.doubtnut.com/l/_sMx0LFAx9us2
https://dl.doubtnut.com/l/_iflcMUUa1WZo
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Answer: A

° Watch Video Solution

4. A box contains 90 discs, numbered from 1 to

90. If one disc is drawn at random from the


https://dl.doubtnut.com/l/_iflcMUUa1WZo
https://dl.doubtnut.com/l/_7QAdy5wUxlGT

box, the probability that it bears a prime-

number less than 23, is:

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7QAdy5wUxlGT

5. The probability of getting a perfect square

number from the numbers 1to 10 is:

>
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Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_D98RhlyB58Wq
https://dl.doubtnut.com/l/_1BDpCGgwOwU9

6. From numbers 3, 5, 7, 7, 7, 9, 9, 9, 9, one
number is selected at random. The probabilty

that the selected number is mean, is given by:

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1BDpCGgwOwU9
https://dl.doubtnut.com/l/_UjERtPKC6TTr

7. A die is thrown once. The probabilty of

getting a prime number is:

>
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Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UjERtPKC6TTr

8. The probability of getting a rotten eggs in a

lot of 400 eggs is 0.035. The number of rotten

eggs in the lot is:

A7

B.14

C. 21

D. 28

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3f1sf6uJHYId

9. A die is thrown once. The probabilty of

getting a number 3 or 4 is:

Wl w| -

C.0

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lG7IAbvOM7E5
https://dl.doubtnut.com/l/_52SafDtOwmqE

10. In a throw of a pair of dice, the probabilty

of getting a doublet is:
1
2
1
3
1
6
D —
12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_52SafDtOwmqE

1. In tossing a die, the probabilty of getting

an odd number or a number less than 4 is:
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Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FOmvnURiAnqF
https://dl.doubtnut.com/l/_fD9YVHcGPuGg

12. A card is drawn from a well shuffled deck of
playing cards. The probability of drawing
cards. The probability of drawing a red face

card is:

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fD9YVHcGPuGg

13. The probability of getting 53 fridays in a

leap year is:

>

SN T TN I OIS § e

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fD9YVHcGPuGg
https://dl.doubtnut.com/l/_yj9uGHlsZKph

14. If three coins are tossed simultaneously,

then the probability of getting no head, is:

>
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Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cmN2CX2GhJCK
https://dl.doubtnut.com/l/_5rDqKLuPxxEJ

15. The probability of getting a sum of 9, when

two dice are thrown simultaneously is:

N @

o
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Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5rDqKLuPxxEJ

16. The probabilty that a leap year selected at

random has 53 Sundays, is:

U J I RN e

D. 1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JMjWRfGhtgRx
https://dl.doubtnut.com/l/_z2QW06kn6JiF

17. A letter of English alphabet is chosen at
random. The probability that the letter is a

consonant is:

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_z2QW06kn6JiF
https://dl.doubtnut.com/l/_VKsbUpnnuBUP

18. A coin is tossed 1000 times and 560 times a

"head" occurs. The empirical probability of

occurance of a head in this case is:

A.0-5

B.0 - 56

C.0-44

D.0 - 056

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VKsbUpnnuBUP

19. Two coins are tossed 200 times and the

following outcomes are connected:

HH HH/TH TT
56 110 34

What is the emperical probability of occurance
of at least one head in the above case?

A. 0.33

B.0.34

C.0.66

D. 0.83

Answer: D


https://dl.doubtnut.com/l/_BjjCU9UkpCtb

° Watch Video Solution

20. A die is thrown 200 times and the
following outcomes are noted with their

frequencies:

Outcomes 1 2 3 4 5 6
Frequency 56 22 30 42 32 18

(1) What is the emperical probability of getting

1in the above case?

A.0.28

B.0.22


https://dl.doubtnut.com/l/_BjjCU9UkpCtb
https://dl.doubtnut.com/l/_HyVJRi8mWd5j

C.0.15

D. 0.21

Answer: B

o Watch Video Solution

21. A die is thrown 200 times and the following

outcomes are noted with their frequencies:

OQutcomes 1 2 3 4 5 6
Frequency 56 22 30 42 32 18

(i) What is the emperical probability of

getting a number less than 4?


https://dl.doubtnut.com/l/_HyVJRi8mWd5j
https://dl.doubtnut.com/l/_xcxNc7sJIabF

A. 0.5

B.0.54

C.046

D. 0.52

Answer: B

o Watch Video Solution

22. A die is thrown 200 times and the
following outcomes are noted with their

frequencies:


https://dl.doubtnut.com/l/_xcxNc7sJIabF
https://dl.doubtnut.com/l/_98ATnHarYv8f

Outcomes 1 2 3 4 5 6
Frequency 56 22 30 42 32 18

(i) Whar is the emperical probability of

getting a number greater than 4?

A.0.32

B.0.25

C.0.18

D.0.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_98ATnHarYv8f
https://dl.doubtnut.com/l/_n0PeGhuCVUi6

23.0On a particular day, the number of vehicles

passing a crossing is given below:

Vehicle Frequency
Two wheeler 52
Three wheeler 51

Four wheeler 77

What is the probability of a two wheeler

passing the crossing on that day?

A.0.26

B.0.71

C.0.385

D. 0.615


https://dl.doubtnut.com/l/_n0PeGhuCVUi6

Answer: A

o Watch Video Solution

24. The following table shows tha blood-

groups of 100 students:

Blood group Number of Students
A 12

B 23
O 35
AB 20
BT 10

One student is chosen at random. What is

probability that his blood group is B™:


https://dl.doubtnut.com/l/_n0PeGhuCVUi6
https://dl.doubtnut.com/l/_81J7KahQDpSJ

A.0.12

B.0.35

C.0.2

D. 0.1

Answer: D

° Watch Video Solution

25. In a bag, there are 100 bulbs out of which

30 are bad ones. A bulb is taken out of the bag


https://dl.doubtnut.com/l/_81J7KahQDpSJ
https://dl.doubtnut.com/l/_kMbjpWgxLVGV

at random. The probability of the selected

bulb to be good as:

A.0.5

B.0.7

C.0.3

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kMbjpWgxLVGV

Topic 1 Empirical Probability Very Short Answer

Type Questions

1. Write the formula for calculating the

probability of occurance of an event.

o Watch Video Solution

2. What is the probability that a leap year has

53 Sundays?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZPfD7lJXWao7
https://dl.doubtnut.com/l/_MoJ0TYO5rfIe

3. A card is drawn at random from a pack of
cards:
(a) Find the probability of this being a card of

spade.

o Watch Video Solution

4. A card is drawn at random from a pack of
cards:
(b) Find the probability of this being not an

ace.

| & I


https://dl.doubtnut.com/l/_5nvDna4DBO9j
https://dl.doubtnut.com/l/_VVrO14F9jHSL

| ¥ Watch Video Solution |

5. In a single throw of a die, find the

probability of getting a number grater than 2.

o Watch Video Solution

6. Find possible outcomes for prime numbers

between 2 and 17.

o Watch Video Solution



https://dl.doubtnut.com/l/_VVrO14F9jHSL
https://dl.doubtnut.com/l/_nJaID7B97xLJ
https://dl.doubtnut.com/l/_m7LGvWSqafNc
https://dl.doubtnut.com/l/_Vrrhg36vSP7K

7. A pair of dice is thrown simultaneously, what

is the probability of getting a doublet?

° Watch Video Solution

8. In a lottery, there are 10 prizes and 20

blanks, find the probability of getting a prize.

o Watch Video Solution

9. Write the sum of the probabilities of all the

elementary events of an experiment.


https://dl.doubtnut.com/l/_Vrrhg36vSP7K
https://dl.doubtnut.com/l/_JcLg70WAQ5RY
https://dl.doubtnut.com/l/_YAHJ4wkGO2qa

° Watch Video Solution

Topic 1 Empirical Probability Short Answer Type

Questions

1. A die is thrown once. Find the probability of
getting

a number lying between 2 and 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_YAHJ4wkGO2qa
https://dl.doubtnut.com/l/_I2iESseX2bLa

2. An unbiased cubical die whose faces are
numbered 1 to 6 is rulled once. Find the
probability of getting a swuare number on the

top face.

o Watch Video Solution

3.There are 6 red, 7 white and 7 black marbles
in a box. Two marbles are drawn from the box
at random. Find the probability that bothe the

marbles are red.

| & I


https://dl.doubtnut.com/l/_fCUNNQ3l09tO
https://dl.doubtnut.com/l/_QXkgkIWNdgRi

| ¥ Watch Video Solution |

4. A bag contains 27 balls of which some are
White and others are Red. A ball is choosed at
random. The probability of getting a Red ball

2
is 3 Find the number of White balls.

o Watch Video Solution

5. A card is drawn at random from a well

shufled deck of playing cards. Find the


https://dl.doubtnut.com/l/_QXkgkIWNdgRi
https://dl.doubtnut.com/l/_4xQr2eNDfzTW
https://dl.doubtnut.com/l/_l5XDnlhSv1uo

probability that the card drawn is:

(a) a card of spade (b) a red king.

° Watch Video Solution

6. Two coins are tossed together. Find the

probability of getting both heads or both tails.

o Watch Video Solution

7. A bag contains cards bearing numbers from

11 to 30. A card is taken out of the bag at


https://dl.doubtnut.com/l/_l5XDnlhSv1uo
https://dl.doubtnut.com/l/_E0cLoAa33PQr
https://dl.doubtnut.com/l/_v5J1pl6rINAO

random. Find the probability that the selected

card has multiple of 5 on it.

° Watch Video Solution

8. A bag contains 5 red, 8 green, and 7 white
balls. One ball is drawn at random from the
bag, find the probability of getting:

(a) not a white ball,

(b) neither a green nor a red ball.

° Watch Video Solution



https://dl.doubtnut.com/l/_v5J1pl6rINAO
https://dl.doubtnut.com/l/_T13QBrhY2dF0
https://dl.doubtnut.com/l/_OTc8FNFjasjA

9. One card is drawn fram a well shuffled deck
of 52 cards. Find the probability of getting:
(a) a non-face card,

(b) a black king.

o Watch Video Solution

10. A bag contains 6 red, 3 black and 6 white
balls. A ball is selected at random from the
bag. Find the probability that the selected ball

IS:


https://dl.doubtnut.com/l/_OTc8FNFjasjA
https://dl.doubtnut.com/l/_B3av5YimJQBC

(a) a red or black

(b) not black

° Watch Video Solution

11. Two dice are thrown together. What is the

probability of getting a doublet?

o Watch Video Solution

12. Adie is thrown once. Find the probability of

getting:


https://dl.doubtnut.com/l/_B3av5YimJQBC
https://dl.doubtnut.com/l/_DtAfuy07SB7o
https://dl.doubtnut.com/l/_WmCLVfxkHcPf

(a) an even prime number

(b) a multiple of 3

° Watch Video Solution

Topic 1 Empirical Probability Long Answer Type

Question |

1. The king, queen and jack of clubs are
removed from a pavk of 52 playing cards and
then the remaining pack is well shuffled. One

card is selected from the remaining cards. Find


https://dl.doubtnut.com/l/_WmCLVfxkHcPf
https://dl.doubtnut.com/l/_QkSi6PHYKmlw

the probability of getting.
(a) a heart,
(b) a king,

(c) a club

° Watch Video Solution

Topic 2 Theoretical Probability Multiple Choice

Questions

1. Probability of getting 3 heads or 3 tails in

tossing a coin 3 times is:


https://dl.doubtnut.com/l/_QkSi6PHYKmlw
https://dl.doubtnut.com/l/_bsF2UDGXetcZ
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Answer: D

o Watch Video Solution

2. Two dice marked 1 to 6 on each is rolled
once simultaneously. The probability of

getting equal numbers on their top is:


https://dl.doubtnut.com/l/_bsF2UDGXetcZ
https://dl.doubtnut.com/l/_Yaw5ult54KG6

D.O

Answer: A

° Watch Video Solution

3. Probability of an impossible event is:

A.O


https://dl.doubtnut.com/l/_Yaw5ult54KG6
https://dl.doubtnut.com/l/_dd9IkYaHMmSQ

B.1

C.10

D. 100

Answer: A

o Watch Video Solution

5
4. The probability of winning a game is &

Then the probability of losing it is:


https://dl.doubtnut.com/l/_dd9IkYaHMmSQ
https://dl.doubtnut.com/l/_MPBBN3Ay7e8L

Answer: D

o Watch Video Solution

5. If P(E) = 0.20, then the probability of 'not E'

IS:

A.0.2


https://dl.doubtnut.com/l/_MPBBN3Ay7e8L
https://dl.doubtnut.com/l/_7p4PwvKvJy7z

B.0.8

C.05

D. 0.7

Answer: B

o Watch Video Solution

6. A girl calculate the probability of her
winning the game in a match and finds it 0.08.
What is the probability of her losing the

game?


https://dl.doubtnut.com/l/_7p4PwvKvJy7z
https://dl.doubtnut.com/l/_o0UDeldDVG8L

A. 091

B. 0.08

C.0.92

D.0.8

Answer: C

o Watch Video Solution

7. A bag contains lemon flavoured candies only.
Malini takes out one candy without looking

into the bag. What is the probability that she


https://dl.doubtnut.com/l/_o0UDeldDVG8L
https://dl.doubtnut.com/l/_6UCbwNGhSd3B

takes out
an orange flavoured candy ?
A 1
2
B.O
C. 1

D2
"3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6UCbwNGhSd3B

5
8. If probability of happening of an event is 9
then the probability of non-happening of this

event is:

A.O

N

Y
Wl o

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6TMT2EDZuxIs

9. which one of the following cannot be the

probability of an event?

A 11

B. 0.

C.09

D. 0.05

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hX7BjSPQKTHc
https://dl.doubtnut.com/l/_aLCok2xdtA2t

10. The probability of a sure event is:

A2

C.0

D. 1

Answer: D

° Watch Video Solution

Topic 2 Theoretical Probability Very Short Answer

Type Questons



https://dl.doubtnut.com/l/_aLCok2xdtA2t

1. Two coins are tossed together. What is the

probability of getting exactly one head.

o Watch Video Solution

2. What is the probability of a sure event?

o Watch Video Solution

3. What is the probability of an impossible

event?


https://dl.doubtnut.com/l/_RY5rQKw4I7GC
https://dl.doubtnut.com/l/_Rn0UeuKYQS2G
https://dl.doubtnut.com/l/_bvnfhe7PHqHC

° Watch Video Solution

4.1f the probability of occurance of an event is
0.6, then find the probability of its non-

occurance.

° Watch Video Solution

5.1f A and B are mutually exclusive events and

P(A)=0- 28,P(B) =0 - 44,find P(A).

o Watch Video Solution



https://dl.doubtnut.com/l/_bvnfhe7PHqHC
https://dl.doubtnut.com/l/_ZzqVLWTr00Z6
https://dl.doubtnut.com/l/_5X0in2VOpaHC

Topic 2 Theoretical Probability Short Answer Type

Questions

1. A die numbered 1 to 6 on its faces is rolled
once. Find the probability of getting either

even number or multiple of '3' on its top face.

° Watch Video Solution

2.In a random experiment there is a chance of

win or lose. But the probability of winning is


https://dl.doubtnut.com/l/_5X0in2VOpaHC
https://dl.doubtnut.com/l/_PpBdQCf5I1H8
https://dl.doubtnut.com/l/_p8I0ZnEFBiyT

four times the lose then find the probability of

win?

° Watch Video Solution

3. Two dice are thrown simultaneously. Find
the probability of getting.
same number on both faces and

(b) both faces havung multiple of five.

o Watch Video Solution



https://dl.doubtnut.com/l/_p8I0ZnEFBiyT
https://dl.doubtnut.com/l/_SNU0EJ3HDmaK

4. Nine rotten mangoes are mixed with 30
gond ones. One mango is chosen at random.
What is the probability of choosing a:

(a) good mango? (b) rotten mango?

o Watch Video Solution

5. A box contains 144 pens of which 20 are
defective and the others are good. A person
will buy a pen if it is good and will not buy if it

is defective. The shopkeeper draws one pen


https://dl.doubtnut.com/l/_4PpZuOfo2MBL
https://dl.doubtnut.com/l/_4NlZMQsD5ToX

from the box at random and gives it to the
person. What is the probability that the
person

(@) will buy it? (b) will not buy it?

o Watch Video Solution

6. The probability that it will rain on a
particular day is 0 - 64. What is the probability

that it will not rain on that day?

o Watch Video Solution



https://dl.doubtnut.com/l/_4NlZMQsD5ToX
https://dl.doubtnut.com/l/_nXTDMUHFk13H
https://dl.doubtnut.com/l/_x7WsxEAoO9Yt

7. The probability of picking a non-defective
item from a sample is 1—72 Find the probability

of picking a defective item.

° Watch Video Solution

8.If Ais an event of a random ecperiment such
that P(A): P(A) = 6: 15, then find:

(a) P(A) (b) P(A)

° Watch Video Solution



https://dl.doubtnut.com/l/_x7WsxEAoO9Yt
https://dl.doubtnut.com/l/_bPZBRRM8njuk
https://dl.doubtnut.com/l/_7FAWtbNKzRTt

9. A abd B are mutually ecxclusive events such

3 2
that P(A) = T and P(B) = = then find

P(A U B).

° Watch Video Solution

10. When a die is thrown, find the probability
that either an odd number or a multiple of 4

occurs.

° Watch Video Solution



https://dl.doubtnut.com/l/_7FAWtbNKzRTt
https://dl.doubtnut.com/l/_Nxn9FLEzyaZk

11. One number card is choosen randomly from
the number cards 1 to 25. Find the probability

that it is divisible by 3 or 11.

o Watch Video Solution

Topic 2 Theoretical Probability Long Answer Type

Questions |

1. A number is selected at random from 1 to 50.
What is the probability that it is

(a) a prime number


https://dl.doubtnut.com/l/_QihSTvVhJktK
https://dl.doubtnut.com/l/_CK5NUtnBVdmu

(b) not a perfect cube
(c) a perfect square

(d) a triangular number
(e) a multiple of 6

(f) not a multiple of 2

o Watch Video Solution

Textbook Corner Exercise 14 1

1. Complete the statements:

(a) Probability of event E + Probability of event


https://dl.doubtnut.com/l/_CK5NUtnBVdmu
https://dl.doubtnut.com/l/_tP07dY2UYNlV

(b) The probability of an event that cannot

happen is . Such an event is

called

(c) The probability of an event thai is certain

to happen is . Such an event is

called sure or certain event.

(d) The sum of the probabilities of all the
elementary events of an experiment s
(e) The probability of an event greater than or

equal to and less than or equal to


https://dl.doubtnut.com/l/_tP07dY2UYNlV

° Watch Video Solution

2. Why is tossing a coin considered to be a fair
way of deciding which team should get the

ball at the beginning of a football game?

° Watch Video Solution

3. Which of the following cannot be the

probability of an event?

A.2/3


https://dl.doubtnut.com/l/_tP07dY2UYNlV
https://dl.doubtnut.com/l/_QmsmFB7k3evM
https://dl.doubtnut.com/l/_8RJpLEbDsk2g

B.1.5

C.0.15

D. 0.7

Answer: B

o Watch Video Solution

4.If P(E) = 0.05, what is the prabability of

'not' E' ?

° Watch Video Solution



https://dl.doubtnut.com/l/_8RJpLEbDsk2g
https://dl.doubtnut.com/l/_h7CDM9N9rTQt

5. A bag contains lemon flavoured candies only
. Malini takes out one candy without looking
into the bag . What is the probability that the
she takes out

(i) an orange flavoured candy ?

(i) a lemon flavoured candy ?

o Watch Video Solution

6.1t is given that in a group of 3 students, the

probability of 2 students not having the same


https://dl.doubtnut.com/l/_Gd2fkoHLV4XJ
https://dl.doubtnut.com/l/_fLCQSgSZXIeP

birthday is 0.992 . What is the probability that

the 2 students have the same birthday?

° Watch Video Solution

7. A bag contains 5 red balls and some blue
balls. If the probability of drawing a blue ball is
double that of a red ball, determine the

number of blue balls in the bag.

o Watch Video Solution



https://dl.doubtnut.com/l/_fLCQSgSZXIeP
https://dl.doubtnut.com/l/_QkLLO0GSgPFs

8. A box contains 5 red marbles, 8 white
marbles and 4 green marbles. One marble is
taken out of the box at random. What s the
probability that the marble taken out will be
(i) red?

(ii) white?

(iii) not green?

o Watch Video Solution



https://dl.doubtnut.com/l/_8xgRjdfDxg8a

9. A piggy bank contains hundred 50p coins ,
fifty Rs 1 coins twenty Rs 2 coins and ten Rs 5
coins . If it is equally likely that one of the
coins will fall out when the bank is trued
upside down, what is the probability that the
coin (i) will be a 50 p coin ? (ii) will bot be a Rs

5 coin ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9tPQE6hZEPlY

10. Gopi buys a fish from a shop for his
aquarium. The shopkeeper takes out one fish
at random from a tank containing 5 male fish
and 8 female fish . What is the probability that

the fish taken out is a male fish ?



https://dl.doubtnut.com/l/_apfn19YdQrx3

I QY Watch Video Solution

11. A game of chance consists of spinning an
arrow which comes to rest pointing at one of
the nimbers 1, 2, 3, 4, 5, 6, 7, 8 (see figure) and
these are equally likely outcomes. What is the
probability that it will point at:

(i) 87

(ii) an odd number?

(i) a number greater than2 ?


https://dl.doubtnut.com/l/_apfn19YdQrx3
https://dl.doubtnut.com/l/_D2MxOfdtKbkY

(iv) a number less than 9?

AN
D

° Watch Video Solution

12. Adie is thrown once, Find the probability of
getting

(i) a prime number


https://dl.doubtnut.com/l/_D2MxOfdtKbkY
https://dl.doubtnut.com/l/_uuaJDahVdL1M

(i) a number lying between 2 and 6

(iii) an odd number.

° Watch Video Solution

13. One card is drawn fram a well shuffled deck
of 52 cards. Find the probability of getting:

(i) a king of red colour

(ii) a face card

(iii) a red face card

(iv) the jack of hearts


https://dl.doubtnut.com/l/_uuaJDahVdL1M
https://dl.doubtnut.com/l/_8Kmf17pKwbdc

(v) a spade

(vi) the queen of diamonds.

° Watch Video Solution

14. Five cards - then ten, jack, queen, king and
ace of diamonds, are well shuffled with their
face downwards. One card is then picked up at
random.

(1) What is the probability that the card is the
queen?

(i) If the queen is drawn and put side, what is


https://dl.doubtnut.com/l/_8Kmf17pKwbdc
https://dl.doubtnut.com/l/_athrAouRdzzK

the probability that the second card picked up
is
(a) an ace?

(b) a queen?

° Watch Video Solution

15. 12 defective pens are accidentally mixed
with 132 good ones. It is not possible to just
look at a pen and tell whether or not it is

defective. One pen is taken out at random


https://dl.doubtnut.com/l/_athrAouRdzzK
https://dl.doubtnut.com/l/_sYnBps16Y4fd

from this lot. Determine the probability that

the pen taken out is a good one.

o Watch Video Solution

16. (i) A lot of20 bulbs sontains 4 defective
ones. One bulb is drawn at random from the
lot. What is the probability that this bulb is
defective?

(i) Suppose the bulb drawn in (i) is not

defective and is not replaced. Now one bulb is


https://dl.doubtnut.com/l/_sYnBps16Y4fd
https://dl.doubtnut.com/l/_GvlhvLM2aSFm

drawn at random from the rest. What is the

probability that this bulb is not defective?

° Watch Video Solution

17. A box contains 90 discs which are
numbered from 1 to 90. If one disc is drawn at
random from the box, find the probability that
it bears

(i) a two-digit number

(i) a perfect square number

(i) a number divisible by 5.

| e |


https://dl.doubtnut.com/l/_GvlhvLM2aSFm
https://dl.doubtnut.com/l/_4Fj40WceBkyB

& watch Video Solution I

18. A child has a die whose six faces show the

letters as given below :

A B C DI|E]| |A

A die is thrown once.What is the probability of

getting i) Aii)D

° Watch Video Solution



https://dl.doubtnut.com/l/_4Fj40WceBkyB
https://dl.doubtnut.com/l/_1l0sY2WH7bjy

19. Suppose you drop a die at random on the
rectangular region . What is the probability
that it will land inside the circle with diameter

1m?

o Watch Video Solution

20. A lot consists of 144 ball pens of which 20
are defective and the others are good. Nuri
will buy a pen if it is good, but will not buy if it

is defective. The shopkeeper draws one pen at


https://dl.doubtnut.com/l/_IGIy6c7hScDB
https://dl.doubtnut.com/l/_L63yO22Vj1br

random and gives it to her. What is the
probability that:
(1) she will buy it?

(i) she will not buy it?

o Watch Video Solution

21. A game consists of tossing a one rupee
coin 3 times and noting its outcome each
time. Henif wins if all the tosses give the same

result i.e., three heads or three tails, and loses


https://dl.doubtnut.com/l/_L63yO22Vj1br
https://dl.doubtnut.com/l/_dmQaYnnpfiG6

otherwise. Calculate the probability that Henif

will lose the game.

° Watch Video Solution

22. A die is thrown twice. What is the
probability that:
(i) 5 will not come up either time?

(i) 5 will come up at least once?

o Watch Video Solution



https://dl.doubtnut.com/l/_dmQaYnnpfiG6
https://dl.doubtnut.com/l/_GifysaGsmaGN

23. Which of the following arguments are
correct and which are not correct? Give
reasons for your answer.

If two coins are tossed simultaneously there
are three possible outcomes - two heads, two
tails or one of each. Therefore, for each of

these outcomes, the probability is 3

o Watch Video Solution

Textbook Corner Exercise 14 2


https://dl.doubtnut.com/l/_I4pMrB03r3AQ
https://dl.doubtnut.com/l/_7DBDH3ydp0IZ

1. Two customers Shyam and Ekta are visiting a
particular shop in the samw week (Tuesday to
Saturday). Each is equally likely to visit the
shop on any day as on another day. What is
the probability that both will visit the shop on
(1) the same day?

(i) consecutive days?

(iii) different days?

o Watch Video Solution



https://dl.doubtnut.com/l/_7DBDH3ydp0IZ

2. A bag contains 5 red balls and some blue
balls. If the probability of drawing a blue ball is
double that of a red ball, determine the

number of blue balls in the bag.

o Watch Video Solution

3. A box contains 12 balls out of which x are
black. If one ball is dran at random from the
box, what is the probability that it will be a

black ball? If 6 more black balls are put in the


https://dl.doubtnut.com/l/_tTy8oxlXSnBV
https://dl.doubtnut.com/l/_Qb0BWVxomU2U

box, the probability of drawing a black ball is

now double of what it was before. Find x.

° Watch Video Solution

4. A jar contains 24 marbles, some are green
and othes are blue. If a marble is drawn at
random from the jar, the probability that it is
green is 2/3.

Find the number of blue balls in the jar.

° Watch Video Solution



https://dl.doubtnut.com/l/_Qb0BWVxomU2U
https://dl.doubtnut.com/l/_H8eOWXlipreW




